Tables are uns of the commonest and carliest
wa ¢ of storing and tabwating data, Tabulation
is the systomatic and sceieriific presentaton of
sruantitative data in auch a form that it is ahl
tor slucidate the prollem under consideration.
Anaspiranl lscrpected to be able to go through
a table, quickly and cffectively Le. with
understanding. Basanlials of a tuble: There are
gix sssential clements of a4 table—

(1) Title (20 Stub {secuon contalning Tow
heading) (3) Celuwn captam theading of each
column {4) Body {5} Paotnules (8} Soures

INTERP RETATION O DATA

1t iz bused an the carcful assesemont of the

faures (numbery given i the rable. n this

process we abalyze Lhe entries and subentries

in the table and derive conclusions regarding:

{1} mazirum and minemam

2 maxinum S ninimum rate of “nereasé oF
devrease '

(3 aercent shange in an entry deom the
Previoue entry

(4) anycecentric bohaviour of cptries

(3} mnature of dependent variable el

IMPORTANT POLNTS EQOR STATISTICAL
ANALYSIS

Ratio and proportioni @ ratio represents
relaticn between partfand varl whereas
proporticen ronresgnka a ve [Lin hotween part
anid whale. These) ardVvery important in
interpretation of dagia,

Percentogey The word percont means
hundredih)We nzk the zymbal "%" 1o expread
the wopd¥peree 1. For example. "17 percent”
mésns W7 Bandredihs”, and can be written
with 1 %ermhnl, ug a fraclion, or as adeeim al.
To provide o derimal te a povesnt. move the
dosmal point two places to Lhe right, adding Os
ibnesesaary, and add the % avmbol.

To eomvert & Tractiom wu o poreent, frst comvert
the fraclion o 2 decimal, and then comvert the
decimal to a pereent, as indicated above.

DATA ANALYSIS AND INTERPRETATION
(TABLES AND GRAPHS)

N.575 = 37.8%, U4 = 30%, L0=1000%

Wany gquestinns involving pereents can
avtually be answered more guickly o sad
than by using paper and pencil Sifce, talke 10%:
of 2 number, jusl divide by 1@ bwamoving the
decimul point one place to the Left: O3 0LED (s
6. Alen, since 3% is half of\ 10%, then 5% of
&0 iz 3 (hall[ul8); end sinee 30%stS Limes 104,
lhen 30% of 60 = LEaiE, = &),

Hates: A ratio hofcdn two magniiudes
wsually showmimer a period o cime iz calicd
rate or ratelof chaaze. This ratio helps us in
find:ng the ratc of chunge over = period of time.
[Fanc teacher 1o Beice paid at a vate Rs 300 per
clnss anddhembis paviment inereases i Re 600
per clagg, it iz obvious Lhal his payment
incragsced Ty 207,

Tepes'of ratio: (1) Part to whale; {2) Part to
part? (31 Whole to whole

There iz nat much theoreticsl background that
ean Le given about tables: you are fomiliaw with
themn and wou have been uaing them simee
echnol days, However, sone general hints can
be supplied:

i) Youshould make sure Lial you look at Lhe
pntire table or sraph. Somothines some
Leivial-locking portions may be averlooked
ke 2 noen-parcful examinec.

Be copseioas and awave of Lhe units used
in the table or zraph. Make sure that yoe
BXPECES YUUL answeT in correct unils.
(iii) A vory cummon mistake in such types af
questiona ariacs due ta confusion hetween
derimals and percentages. Don's confuse
decunals with pereontisea and wioe versa.
For oxample, if the unils arc percentages
and #n enley is given w be 3 then it
cgual w0 3% which equals 003,

1t would be advisanle to leok at answers
hefors attempting a caloulation. Since the
tast agks for only an approximate answer,
oven a mental acvutinizing may Jead toan

(i}

i}



fe)

(1)

answer of a reascoably correct dogroe;
saving effort and time,

Again, eince vouare asked to furnish only
Aan approxdimate answer, you may round
off or approximate the various quantities

durmng calewlation. [Mor example if yon arc

192=37

789
You may spproximate 192 to 2 and 2 =

Lo cabeuds e

-y

2
3.7 78960 8 and thean fod oul P =0

Yaoil must base your anewer to cach
guestion only on the information in the
given charts and grapha If veour
kaowledge comtradicts any of the data
presented in the gravchs, ignove what vou

koww. First of atl, you may be mistaken:
but more unporlant, the data may refer to
a difforent, unspecified locatisrm or wear In
any care, always hase your anawer nn the
piven dala.

fofi) Frawadly, you should vheck i Lhe aoswer

TABLE
Divection : Siudy the follmoing toble oo answer the quesiions bdved on 1t

FPROGJECTED ANI? ACTUAL PRODUCTION OF CARS DY SIIFFERENT COMPANTES
{Number in '¢00)

makerany acnse. Bofors confirming vous
angwer, Lake # =econd o be sure that it 1s
reszcnable. Feom the logwe of eitfiatien
viou showld realize that earnioe Soaldo
exveed sales. S0 by tosting vousanswor for
reasonahleness, von will reghze taat Fou
made a mistake. Remembar that/if you
don't know how to sdlve problem, you
muat gucas i order o omove on. Before
pueseing, however, chogk tofees 1 one or
more o the chodces are unreazonable. 1
ao, climinated therm

A B C )] E
YEAR | Projected | Actual | Projected | Awloa] | Projected)|  Agtoal Frojected | Actaul  |Projerted]| Actaal
17 22 i8] 18 12 21 ) 92 1a a2 20
1985 0 P | 21 14 A 18 S 12 158 16
19345 21 15 15 14 25 20 22 21 Z0 1%
1880 24 11 L 100 ) a2 29 27 23 14
1401 28 TH 13 1 a1 23 25 &4 41 I7
1903 31 s Al 5 a8 41 40 25 28 24
1. Which company has the high@se actual actual production of cars over these 'f;-'ears‘?
production of cars ovef™ s years? ) A i B
) A bl B oy O idy B
o i D () E
o K . What 18 the approximate % arccwzl
2. Which vear has (& lowest projacted productiom of cats comipared tn the projectsd
production of dareaf 211 the 5 comparndes? nproduction of cary af I over these veara
(w) 1997 oy 19RY {1987-1991)7
O IRECEL dy 1802 {n} BO by 7S
(g} Waneof these feh 82 {dy 74
3. ¥Whalis thepereontage of actual production e} 77 :
of c2#s sompaved to the projectad production | Solution: L O We quickly o through the
of carve of compuany 13 in year 1988 eelume of actual-production for different
{a)\Bi thy 3¢ companies A note thal D) A and C lonle Jilen
) 90 idy 92 the top producers. How do woe note this? We see
&) Nuooe of these that all the entries lor & are ovar 200 for O, ool
4, Which compuny has continwous increase m | entry in _oss than 20 bl the luter eniaes bave




tourhed 3 0: und for D, on'y twe entries are lese
than #0 bt the entrics ave gradually Tising, wo
quickly add up the entrics of these 3 comnanies
aré “nd Lhat O ig the higheal produwes

2 1957 (by simple oepecliony; 3. 90% (1875 50%
of an; 4, I 5. T4%.

GRAPHS
1. CIRCLE GRBAPHS (PIE CHARTS)

Civeular Craphe are used o zhow how varlous
soctor: sharve in the whole. Sometimes they arc
also refermd Lo as pie, charts. The percentage of
each =eetor 1 usually denoted in o circle graph.
Dircetionsa: fefer tn the following pre cfurs
College Enrollment, by Age and Sex:
1975 and 1935

Frarale. kean [lan
[FECRE AT - - 25 years ald
1 ymuid ol 20k
1|
Famals, 25 y=am
Wk, 05 wanm ol o and weec
.
-

Ly

Maly, ks lan ?5
Jrare o
iy

Famale, ks han
2syearsald
2%

Male. 23 years old
i epir

1 Ferfid &, 27 years

oid and e
I

19945
Souree: L9 Aorea of dhe Cenatg, Cerrendd
Popaplaiion Survey
1. If there were 1 000000€0 oge students in
1975, how manyimnregmale stedents were
Uere than fertalestudents?
(o) BOCLO00 ik 1,600,000
fop 2,400,000 (5,400,000
2 Tn @855 awhat pereent of female eollege
siudent@wmers ot least 235 years old?

s ke i 30%
{t) 49 iy &hYa

fy TE%

2 1l the tutal number of students enrolled i
college wae 40% higher 0 1885 thaw in
1075, what ie the ratio of the oumher of
imale students 1 1995 Lo the number nf
maln siudentsin 1975

(1) 36 S A
o TG iy 6:5
&1 T:0

Salutions :

1. (20 From the thp graph, we zee thatin 1955,
54% (35 + 1940 ot all college students
wore male. and the ovher 8% wend
terpale. So there were 3,100,000 males
and 4,600.000 females - a difforfiee of
SO0, 0{H).

2. (b ir 1975, of overy 104 college Gtudents, 16
wore Semale - 32 of whomewate lesathan
25 vears old, and 14 f whopt s 23
vaays old and over. Sg, 14 of every 40
fomale studens wore ub least 2h vears

old, Finaly 25 273 =Yon

iy brom the T-W;fﬁg'réll1hﬂ. we gor lat in
1970 Rl (38% - 198 uf all colles:
atudentbwere e, wheress in 1004 the
dirragponding fizure was 45% (28% +
174} BoPsimplicity, azsume thul there
wored0D collrge students in 1975, 34 of
whom were male. Then in 19895, there
were 140 collepe atudends, 83 of whom
wrere male (5% of 140 = 63, 50 the rute
of the number of male students in 1495
o the number of mauls: swnderis in 1395
{3 63:54 = T4

LINE GRAPHS

Line graphs denotc how a quantity chatpges
continuously, Very nfleu the guantity iz
maasumd &8 time changes. [ the line goos up.
the quantity is lncreasing; if it goes dewrn it 17
decreasing: if it is horizonial then the quanlity
is not changing. To measure the height af a
point on the praph, yoor aves should ach as
gufficient moans.

Example: Study the following graph

carefully and answer the questions given
beluw it.
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aompany over the vears {Ks..... in crorel,

10 - —a— Expandibure
15 | ff_ﬂ__.ﬂ‘_ IL"W
e =,
20 4 | ' - .

15

10 “a

g

ﬂ - T T T T T 1

1936 5T 14ER 1609 1200 1581

1. Whet was the perventape inercare in
inenme from [958 to 19597
) TN hy 2k
() B0 {f} Th
iy none of theee

2. Tn how many of the given vears way the
income mare than eXpendilore?
=) one i two
(cy throo 1) four
(e} nonwe -ofthase

3. In how many of the given ryeava was The
difference betwesn income and expendilue
ahout Ha, 5 crovea?
{a) ore thl  two
i) three Wl four
{o nome ol these

1. Whach vears has the difference hetween
incoms and expenditure about s, 10 crore?
(a) 1987 & 1990 (h) 1990 & 1901
{c) 1986, 1990 & 1991 (1) 1956 & 1990
{e) 1985 & 1991

a5, If the differones hetwocn 1he indome and
expendrture was congidered @s pofit/in
which of Lhe fullowing vears was Uhe vafe of
loss maximum?

{2y 1988 (b) 1950
=k 1991 ey (1987
e none o these
Sulutions;
4 (i TH% (Approxmatelygfrora 18 croves Lo 30
Crores).

2 {h} The dpeome will be more than the
crpendittee & Lhe line denoting incimme
iHaldcxline) liea above the line denoting
pxpenditure {dotted line}. This iz
bappening only in 1986 2nd 1957, henes,
ANSWeY 157 2 vears.

4 Ne) Five vears (none of these), Exeeptl for
198% when both income and
expendilure equal each other, in all the
remaimng yFears the gup hetweoen the

LN LLLLE T PSSl T R LLEGREE LI gtll} LiL
5 units on the seale.

4. (o) 1986, 1090, 1981

F. [0y 1991, (when sypenditarn exenedsz the
ingme by the largest gap).

|[BAR GRAPHS)|

Guantitics can be compared by the height dr
length of & bar 1n a bar graph. A bar grachean
have either verticsl or herzmntal bars. Yoo can
compare dilferen) quantity or the ame
guartity at difforeni times, Use vofir fencilier
zpiece of papor to enmpare hars whach dte not
adjacent to cach other.

DISARILITY RENEFICIARIES REPORTET
AR REHARILITATED

(mamhber, s percent of all rehabilitaced clients
af state vocaticnaldrehabilipation ageneciecs,
3'eax-g.u1 2a5-19%170.

1. Bem'g:an 16T and 1971, the largear of
dizability heneficiavies weie reported as
rehabilitated i the vear,

(@A) 1967 il 1970
in 1968 (a1 1971
{ch 1950

2. Between 1955 and 1965, about Toow wany
clicntz were rehabilitatzd by olate
vooational tehabilitation agencics?

() 000 @ 1000000
thi 40,000 (&1 10,000.000
() 1.000.000

Solutions .

1, () The anwwer is (o) sinee the Lighest haris
the bar fir 1971, The percentage ol
disability beneficiaries nut of all
rehabilitared chents was hugher in 1969,
Lul the number was kvwer.

2 (¢ 1.9% of those rchabilitated wore
digability bieneficiaries, and were about
19,000 disabkility  heneliciarics
rehukbilitated. Soaf T'ie tho total tember
rehabilitated, then 9% of T = 19,000 or



019T = 19.000. Thus T = 19.000/.017 =
1,004,000 and the duswer 15 ()

CUMULATIVE GRAPHS

You can compare several categories by 4 geaph
ol ihe cwmulative Lrpe, Theso are usually barar
Line prapha where the heirht of the bar or line
1z divided up proportionately among dillerent
quantitics.

Dircetions: Lolimenng bar dingrom shouw the
wmanthly expenditiere of oo fomiiivs A& 5 on
food, eloifiing, cdueation., fuel, huwse rent and
iwiscellaneois (16 perrattoges ).

L115% —

s — -

0%
A% 7
%

4. Ii both the fomilies have same expend:tare,
which one spends move on . educalion and
mierellancous topether?

A

() I

{1 Both spend equal amounls
id} none of theso

5. Whal percentage s 3's expendilurc on food
aver A's exponditure on [bad, taking equal
bobal expernditore?

=) 10% by T0%
o 183.33% iy TR
Solulions:

1. Q1 Money spent on cducatior by lamils A
= (65 - 43) Le. 20% of cotal sxpendilugc

20
= o rf tntal expenditurs

I
~opf the toeal cxperditure.

Il
I

L

—
1

—_

o1 Money spent on clolhes by family s
= (B0 — -1C) % ¥ total expenditure

- Rs. ._‘}xmnuu‘ - Rs. 2000.
| 100

3. (b1 Money spent by Adn fuod. clothes and

or el S Y TR L e M rouse v o J
spent on cducation in Zamily A7 = [0 (13 - 300 B0 — 73)] % ol wial
13 2 capiaditere ”
al —— H B .
W 3 ® 3 ={E0N A s SO00 = 1s. {ﬁ ﬂmﬂ
? : = Ra. (14000
— s of thise B ' .
(e 13 (e none nfthose | 4. gtay Boney  spent by A on cdueation and
4 If the tworal expendicare cn family B Qs miserllneous
Ra. 10000, then wioney spent on clothes by =|(65 — 43) + (100  BINI% = 30%.
this family during the year ix Money spent by B or education &
(a) R=. 200 {by Ha. 60{l mussellancmes
(=) s 2000 . (@) Rs 6000 4 = (75 — 01+ (100 95)]% = 20%
3. [ e rotal annual expenditure of amiUe A s, © D's expenditure on faad — 0%
in Ra. 30000, then moncy spent on faod A'a expenditare on food = 30%
clothes and heuse rent iz [ i
(a1 Rz 18500 @) Bs. 18000 T's percentage over A's = q‘jxlm'
{z; Qe 21000 () Dl T15000 = 133.33%.
QUESTIONS

Yirections: Stwdp the jable ond answer
the quesiione recordeng dooiion palling -

Pt O Voting  Inofefferent Totel

Jor e AA) A
Mfen Head] fixL 250 1350
Women), 40 1250 50 1750
Tatal M) 2000 30 00

L. Which ofthe Lullmn ing conclusions driwn
is most cerrest "
faj L0% poaple did not take part in the
poiling
fh Women sre less mterested in polling
ae compared to men
fr)  Polling have beeorme unpopular i Indis



feds ER10%0 nenp e volad ol T Tavour o1 The
parly

Dircetinns: Study e table ved wisiver

the quesfion.

Yezr Firins outluy Procesds

0
3800
1480 A500 R
1930 T-1(HD HIKK)

S ILLE
RN

o6t
1970

T

Which of the fitlvwing somnelusion s noc

true ?

fe) Thore has hevn a steady growih
Y%age profit of the firm

fbl Inoomo n? the fitm becomes double in
d0ears

fe) Pereentage profit in 1980 was 17.0%

fef] There s 117.83% Dcresse 0 the
erpenzes ol the e froan 19680 Lo 189490

. Fre Lhe purpnae of proparing 0 pic-chark

the {owvermment’'s axpenditures on
different heads in angles are given bolow,
Stuedy them and answer Q. No, 4

[ndwatrices Ly
Transport Be
Sncial Services S
Agricabmare 40
Powwrr 45
[mrontnmes A
Small scale industrics |
Irrigation LE

The statement which 1z net tpEis

fa} Expenditurs on transpogt andigoeml
sorvice combined 18 105 Gfithe) taral
expenditire

B} Expend:ture un industsies 1= teiple
that of agriculiors :

e} Expenditurefon e gation is 2006% of
the total cxpendtture

el 26 of budget Tampent on industrics

Directions: Study The aroph and attempt

erieeatlofl o,

b i, Exportimport of Indis
60 =
1N
A0 —

" M
aor /\ /
-
th X

T T S |
B PMAMIS ASOGINI

“+.

FYLLLGTE CLVLL LS LIRS e lLL L1l LD Al ey [ L arl

the graph?

() fmpore
Lavonrable prospects .

% lmport was maximum in Jaly bul
minimum in January

fr) Im July export was momun bat
mparl Wik MAX1IAE

(tfd Exportand smpoxl bath were @gual in
April and Thecamber

Study the following pie chactand athempt

the following questions :

Expenszes of a family

1. Clolee

2. Vegetables

3. Mem

and  exporl  beth  bawve

4. Tent
5. Peixol
6. (Haars

V. Foodyrons

Whreh gonclision hased on the diagram 1z
tnie here?

fdl xpitnacs on fondpraing is loas than
thoee on Tent and petrol

(b} Expenseson cloches and veretables s
grcacor than om rent, pertral and
ullers

fob 23 of the famiiv's income is spent or
all except food grans

{2} Egual amcunt of money 15 spent on
v-;:gmLH]_‘l'!.q:a srac] mue s,

Toeome of a person fean JifTs reo sourees

is cxpresacd thraugh the following pie

chart. Stady thom and answoer Lhe
follewing queatinn

1. Serviee

Eent

RBuank interssc

Company shures

Commisgsion on hoecks

Wife's salary

. Halcof wwastea

With the help of the above pie chart which

of the conchusions cannot be drawn?

il Caontmbuton of ronl, oraeecsl, ahars
and commassicn s more thar % ot che
taslal ireome

B} His zalary is less than his wiHe salary

MR G e



fo} Incone from ssrvice and rent puc
together makes an obtuse angle in a
pie chart
o) Hia wile's sulary is less than the
iheoine obtained from renl
Direcations: Poprlelion gromik in i (s
shown through a bor diagram. Study o and
anaer bhe gleslione Noo 7

100 |—
30 e

a0 — — r
T —
#0|—

5y

Ll =

30—

20—

L — | [

Promalaticn in Crores:

LWEL 22T 79711941 1951 1961 1K1 15F

=1

Which of the following conclusions s not

fra?

firb Average annunl increase of India's
popubiation is aboul voe erarve

{1} Population of Tndiz in 1990 1= expectad
to rize by LO% or mors

fe) Population in India in 1901 must have
been less than 23 croves

fel) Grrowth rate of population from 1941
to 19681 is maximum

2, Runs scored by three playors in 6 aiftches

ave given below, which plaver you would

like tw selewy, us a captain of the tam?

Players I O I, ¥ VI
A 20 15 788y, A0 5 3B
B 0 B S0 @¢d3” B3 AN
C 10150 V20 10 10 30

fa) C.becausc'ef his averape
th) B, hecduspoed las average and consia-
te gy,
o} ©and 5otk
) aend T3 both
Dirc@tions: Stidy the graoph mud answer e
qreesiion o) 5,

Furia’s prsitizn

—_— -
"\\
7

* ez

-\-\k " o T FERTED

[ U
ol B
L

Treotne of Bep
iim Lail's)
S &
=

=

l ] 1 1 1
THTR LATS  IRAG 1944 1900

9. Which conclusicn is noet trus ?
fd Profit of the flrm wes minimuoe
1380 and maximumn in 1985
) Bate ol inerense in inconus i leasghan
that of inereass in exponditams i
1530
o) There s a dirsco glagion, baiwesn
inconmic and expenditure after 19540
i@l Al of the above
Directions: The folloiing bl shouws the
tpne of exports fraf Badiogsieo e tahle
wal gascer the guekiiof.
Bxpot! o Ns rroras

Coitry 188l 197071 88051
1K L3uEd T 51012
Tka 11588 201754 S MER
Ttussia 16358 20885 41049
Jepfan 2T 20313 HEIRA:
Hermany - iz 23434
Malasiva 5a0 1173 20
Pakistan 42 4t £iIG3ES
Tabal incduding GO0G-1 153516 AR

other countrins
I0. Which of the following conclusions iz
aorTeet?
(i) Total  exporl  betweoen
increased by aboat 200%
fh The relulive shuare of the UK and T34
wenl down comaidorably to L tolal
CRpOEL
{i) Jupar became the major Lmporting
vountry from Endia o 1950
fid] The shave of these seven coumtiics
was moere than balf to the tetal expoet
during the whole period
11, Study the table and determine the siate
which has recorded maximum imepro-
woemenl 1o output firom I96G1 to 19917

1970-80



Evport 1n Bs crores
)

Site 1061 1871 IB&l 18941
TI.P. 51 271 a5l S
Bihar B 165 154 205
M JiH) 70 260 250
AP 141 L43 190 111
Punjuly 470 1490 B30 6]
Haryana 410 450 . 960 T30
W. Bengal 150 240 2000 170
@ U &) Pumab

18,

fc} Haryana fif) W, Bomeal
{irthe bagis ofthe above table which state

‘Hues not record any improvement in its

16.

17.

fa) =7 B A+Y¥=-2

fr} A-2=7% wp X=—-%Y 1 2
Whicl: of the fullowing figwrea docs noe
represent a linear relakionship hetwacn
the variahles X and Y ¥

A - H

e

I [
fat A B
) © (d) A7

Value of conslund X and ¥ are 1do Hvespec-
tively mn o linear relatiguship find the

Y
;U’aﬁtpﬂ% (&} AP, mieeing vidue of ¥ in the £u]}m!.-‘ing table
ic) Pumsb (i M.P, > 1
18, Srudy the following table and deterrine 2 :‘i
whose overall performance is hest umong : Y
the throe. j: 21
Subfeci A% Aarks By Morks (s Marks h 57
Mathe 3 <0 ah o 5 Ml 7
English 0 5l 15 (o) 13 fei} Mene of these
Senee 20 40 4) 18 “According to the survey of area A and B
Soe. Se. 40 &6 A0 the following records were collected. Study
GEK. an 35 39 the records and determine the coneusion
Hinds a0 20 1L wlich is Dot correct 7
ft A e Bfs Chris Purss Skhs o Thid
fh) B dus lma i
) C o Brend w10 9% 13% 26 11% 38000
(d} Cannot be determined C | AwwB % ISR ITH AWM MW M 35000
14. Onthe bazis of the data givenabous which %@ There is & difference of 1540 Hindus
of the following conclugians ig correct 7 between these bwo arcaz
fa) L“.nghsh_m AN RSy sIuh}ECt for fﬁ (&) Number of Paraisin area A ls equal ko
‘b A has failed in 3'subiects hut B in ouly that of Christians in area T8
L _ _ nt Ilindps  remaimed  the WL
fc) F'erfcmlnam:e of &n Enclieh is twice o4 cﬂmmunitjrciﬁlﬁlth the areos large
t]Tmt of Mathe 2} Al of the above
{d) Nofie oftheabove 19. According to the survey of 2000 cducated

15.

In the) follawing fipure detormine Lhe
vl ol ¥

v T
SR I S RDFRAC S

x '
FEIE SR R LR

unemploved pereons in which 1200 were
men and 300 were women, the following
data were collasted:

fhuwalifiootion [nemgoved  Unsmployed

Men LML FrLTE
Doctors 12.5% 15%)
Engincery 20% L
Trained Teachers 15% 22 a%
Postgradnates a4 hl% 25
{rvadnatea 3 %




Ugc the basm el the abeve table what wthe
differencs 1z the namher At unemphayad
men rild wornen doctors?

20 Accordiog louestion 200 19w nar s the
wkal siomler ol unemploeeed g loodes?
ia) 1E5 ol 1Tk
{c) 530 i) Gln

EXPLANATORY ANSWERS

i) 20 ¢h) 30
for 40 it} Mone af theae
W0 = L]
L (dy: % - £1.5%

2 ek Firw's prafl = Bevecue — Expenses
= B4R — 4500 = I,
=10 6RY
Expenses on mmdustres =90 and that

of Agricuiture = 43¢
So it isonly deuble. Tlere 360+ = 1009,
1807 = 304 and Q0" — 2hk
[muport sl exporl both are =0
Ducluaiing vinl oothung can be kaid
about fubwic presasct defirdtely.
Aren ghown on the hazs of the degroe s
taken into acconnt here. The lne that
cut the cuele inte twa halves means
division of 30% wnd 50% whale un areof
807 :ieany ooe-fourth.
S Lhe wngle is net pven here sg
nething vau be 2o susceurslely.
Only estimation is possible and nothing
can ba definitely gaid abeut future.
Fir Levrr pevicemance not anly
AVETAZE M impuntta nkhat consigtenoy is
much more important. Uansiarency
meane Difference betweon the highst
goore and the lowest soarc frnlige)
should Le minimuom  withmlcast
Mensslvimlion in staidetionl langnaga.
Fanandiiors w ldphdy Oocbogeing s jpee
latiooslug 19 o dureer,
10, (b The export ta UK. andel&A {ram Tndis
18 noreaarng undoubtedly but not ao
much 3z it is incréasinpg’in cass of other

L
Birw peroentage profit=

3. bk
4, (n):

5. {b):

6. {h:
7. (b):
B. (b}

8. (r):

five conntries
1. (dp:

Sialr I&gr (971 fAg!  144)
e o4 3 4 0
BGihus b 13 g &
WP 3 1 5 4
1y 4 T il 0]
Eimjak I ] 2 -
Harvana 2 2 1 1
Vi Bongal o by 4 3

The ahavs ialbde shws thes e rank of
W, Besgul wes Bt 1 1981 wlhich
brogmes 3rd in 1992 The ntlher states
ure nat showing so much improve:ment
in thewr perfarmanas,

12, (Al rank was Trhin 9] wlieh astill
Tthin 1991

L3, ok &, B sind On mssan inarks ue- o gege] buk
Vs rangy wm Al - 20 = 0
B rungz w45 — 20 < 20
5 rooge 13 43 - 35 =10
Standard devianondesT b @ imum
mease of A then comie: 3 mt Inase 3D
will be thers in cas=al:

L4, ¢dy: None ol the ronclusimn: s
bersinse
fr) Pagy macltinfeach subyeet aas not

Eeefiimien.
i) Eack subjees measure: cifforect
Lepes olabilicies,

@ BourEs in o porucular subject
depsnd nol ondy vo the nature of the
sulyeet Iz other varizblesz like,
interest, aptitdile. aaetlowd  of
fzactima ote. alan ARk asnra

L5:a) From O ko toe lefe 1z the minus sign of
Xoavd X s 3 peint less than Y.

18. (d): In 1 linear relatinnztip if one varialla
incroazes by a censtant amouct the
coITes-ponding 1noreass 1n the other
variable iz alen constant.

1T. e Value Y =1 11X 14 1x0—13
Ilneresier i X Jounne Lo 1, 203 4, &,
and increasn in Y isd, e, B0R 15017, ]

ek

C 13w IR00Y .
1. {b) T = 4940 Parss
S L L
(| e = 050 Chrisligas

Thua ther are nat aqual
1. fhi(12 a3 = 130400/ 100 150 men
(15 = ALO) LO0 = 121 wonen
Ml nee: = TR — 1200 = 30
20, (e} (30« 120100 = 350, {30~ 3000 100 = 240
o0 + 240 = GO0,



